
VYTYČOVACÍ BODY

číslo bodu pozice 
1 X = ‐463118.9000     Y = ‐1102422.6900
2 X = ‐463118.4066     Y = ‐1102422.7711
3 X = ‐463120.2228     Y = ‐1102430.7383
4 X = ‐463119.7293     Y = ‐1102430.8194
5 X = ‐463115.6065     Y = ‐1102431.4970
6 X = ‐463105.9930     Y = ‐1102423.5454
7 X = ‐463103.2371     Y = ‐1102424.1210
8 X = ‐463115.9853     Y = ‐1102434.6653
9 X = ‐463119.5948     Y = ‐1102456.3874
10 X = ‐463118.7203     Y = ‐1102456.5999
11 X = ‐463117.2803     Y = ‐1102450.6723
12 X = ‐463111.2535     Y = ‐1102452.136
13 X = ‐463112.6955     Y = ‐1102458.0635
14 X = ‐463122.7128     Y = ‐1102455.6300 
15 X = ‐463123.5603     Y = ‐1102451.0416
16 X = ‐463123.0661     Y = ‐1102451.1240
17 X = ‐463120.7696     Y = ‐1102434.0665
18 X = ‐463120.2762     Y = ‐1102434.1476
19 X = ‐463119.2480     Y = ‐1102434.3824
20 X = ‐463122.5323     Y = ‐1102454.1469
21 X = ‐463119.2473     Y = ‐1102454.6927


